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-
F

1l @ w
Thevalueof @ 1 @|is.

-

e @ 1

Mark only one oval.

3

2

1

0

10. 2.
(8 -6 2
Ifthe matrix | -6 7 —4 | issingular then thevalue of A is

2 4 )

Mark only one oval.
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11. 3.
x 1 1
2 -1 0
The co-factor of x in the determinant 11 3 2lis

Mark only one oval.
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12. 4.

The adjoint of the determmant |§ é is

Mark only one oval.

|1 2 6 3
6 3 1 2
Option 1 Option 2
-6 3 | 6 —3|
1 -2 -1 2
Option 3 Option 4
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13. 5.

The vahie of the determinant

Mark only one oval.

14. 6.

If 1—'&=(_ﬂi E) then A AT =

Mark only one oval.

12
A
2A

None of these

15. 7.

The rank of the matrix A=@ i) is

Mark only one oval.

2
3
4

None of these

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 8/40



8/11/2021 Online Examinations (Even Sem/Part-I/Part-Il Examinations 2020 - 2021

16. 8. For what value of y does the system of equations x+y+z=1; x+2y-z=2; 5x+7y+
Mz=4 have a unique solution?

Mark only one oval.

p#2

p#1

p#3

p#4

17. 9.
2 01
The value of “a” for which rank of the matrix (5 a 3) 1s less than 37

0 3 1

Mark only one oval.

3/4
3/5
3/2
1

18. 10.

.2 2 1n
The rank of the matrix (6 }15
Mark only one oval.

2
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19. 1.

1 1 1
The value of k" for which rank of the matrnix ( ik 1) 15 2 is
10 1 0

Mark only one oval.

1
0
-1
2
20. 12.
3 -2 5
In|-1 2 —3| the minor and co-factor of -2 are respectively
-5 6 9

Mark only one oval.

24,24
24,24
-24,24

-24,-24
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21. 13

5= {{l‘; .0} xye R} is a subspace of R’ then dim(S) is
Mark only one oval.

2

22. 14.The expression of the vector (7,11) as a linear combination of the vectors (2,3)
and (3,5) is

Mark only one oval.

1(2,3)+2(3,5)
2(2,3)+1(3,5)
cannot be expressed

None of these

23. 15.

If {r:x; B, “,!} is a basis of a vector space V, then {Dt; B+, “,-’}
Mark only one oval.

is a basis of V
linearly dependent
linearly independent but not a basis

None of these
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24. 16.

Thevectors (2,1.0).(1,1,0),(4.2,0) of R’ are
Mark only one oval.
linearly independent but not a basis
linearly dependent

basis

None of these
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25. 17

Let T:R' =R bedefined by T(x. v .x)=(x+Lx,+lx +1).(x.x,x,)eR,
then T s a
Mark only one oval.

T(a+p)=T(c)+T ()

Option linear mapping

is not a linear mapping None of these
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26. 18.

LetV and W be two vector spaces and 7 :V — T is a linear mapping, then T is
injective if and only if
Mark only one oval.

Ker{T}={theta}

Ker{T}={0}

Ker T=V

none
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27. 19.

LetV and W betwo vector spaces and [V — 7 is a linear mapping and 6,6° be
the null vectors of V and W respectively, then

Mark only one oval.

Ker T={aeV|T(x)=6 Ker T={aeV|T(x)=6')

Option 1 Option 2

Ker T={aelV|T(x)=a)

Option 3 All of these

28. 20.If T:V --> W be a linear mapping, then
Mark only one oval.

dim (Ker T) + dim (Im T) = dim (V)
dim (Ker T) + dim (Im T) = dim (W)
dim (Ker T) +dim (ImT) =3

None of these
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29. 21

Let T :R' — R be a linear transformation defined by I'(x,y,z)=(x—y.x—z), then
the dimension of the nullspaceof T is

Mark only one oval.

30. 22.

Let'V be a vector space over the set of all real numbers R_Let & be thezero vector
of V.Then 2£="7

Mark only one oval.

31. 23. A vector space V is finite dimensional if it has
Mark only one oval.

finite basis
finite elements
no basis

None of these

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 16/40
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32. 24

c 0
Which ofthe followng set span the vector space {[; } IX,VE R} ?
3

Mark only one oval.

s 1) (e

Option 1 Option 2

o oJls 20 o o}ls 1]

Option 3 Option 4
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33.  25. Which of the following is not linear transformation?

Mark only one oval.

TR =R Tix.v)=(3x-y.2x)

Option 1

T k=R T =(5x21)

Option 3

34. 26.

TR =R Tv=(3x+ly-z)

Option 2

T E>—= R Tz, y.2)=(x0z)

Option 4

Let T:R°— R’ be alinear transformation given by T{xy)=(x+y,x—p.»),then

mankof T is
Mark only one oval.

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 18/40
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35. 27

Let T':V = pe almer transformation and rank(T)=m, then

Mark only one oval.
dim(V) =m
dim(Ker T) =m
dim(ImT) =m

dim(W) =m

36. 28.

Let T:R"— R" be a linear transformation. Which one of the followng statement
implies that T s bijective?

Mark only one oval.

nullity(T) = n

rank(T) = nullity(T) = n
rank(T) + nullity(T) = n
rank(T) — nullity(T) = n

37. 29.

If A’=A, then its Eigen values are either

Mark only one oval.

Oor2
Tor2
Oor1

Only 0
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38. 30.

If 1+0 isanEigen value of amatri Athen det(4A—A7)=
Mark only one oval.

A

-A

2\

39. 31

If 1=0 1isanEigen value of amatrzx _4then the matnix 4" has an Eigen value
Mark only one oval.

A

-A

1/A

None of the options

40. 32.

1
The sum of the Eigen values of thematnx A =| 1
13

[ I R
[y
[y
(%)

Mark only one oval.
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41. 33

If A is a non-null square matrix then A+A' is a

Mark only one oval.

symmetric matrix
skew-symmetric matrix
null matrix

Identity Matrix

42. 34.

If A is a non-null square matrix then A-A' is a

Mark only one oval.

symmetric matrix
skew-symmetric matrix
Identity Matrix

Orthogonal matrix

43. 35.

If A4 isan orthogonal Matrix then what can we say about the matric A
Mark only one oval.

Singular Matrix
Non-Singular Matrix
Symmetric Matrix

Skew-Symmetric matrix

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 21/40
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44. 36.

If det( 4) = Othen what can we say about the matrim 4

Mark only one oval.

0 is an eigen value of A’ tr(A)20

Option 1 Option 2

0 cannot be eigen value of A

Option 3 A is a skew symmetric matrix

45. 37

If 415 similar tothe matnx B then 4™ is similar to the matimx
Mark only one oval.

A

B

Inv(B)

tr(A)

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit
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46. 38.

If 4 hasan Eigen vector vand A4=F BPFthen Bhas an Eigen vector

Mark only one oval.

Pv

Option 1

Option 3

Option 2

Option 4

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit
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39.

If =R be equipped with mner product(x,y)=xy, +2x,7v, +3x, v, In this mner
product space (7, (...)) which of the following pairs of vectors is orthonormal?

Mark only one oval.

1 ] 1 ]
1
1= v=|1 w=|0|v=|—
]
0 0 0
Option 1 Option 2
1
Al [ 7 s
w=| 0 |v= w=|0[v= >
] ] 1 ]
Option 3 Option 4

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit

24/40



8/11/2021 Online Examinations (Even Sem/Part-I/Part-Il Examinations 2020 - 2021

48. 40.

If =R be equipped with mner product(x,y)=xy, +2x,7v, +3x, v, In this mner

] o

productspace (17.(...)) thenthe value of the inner productof w= % V= %
1

N —
3

Mark only one oval.

NG 242

Option 1 Option 2

=

2 Option 4

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 25/40
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49. 41.

If =R be equipped with mner product (x, y)=xy, +x,¥, +x,v,. In this nner
product space (7, (...)) which of the following pairs of vectors is orthonormal?

Mark only one oval.

1 ] 1 ]
u= v=|1 w=|0lv= 1
2
] 0 0
Option 1 Option 2
1 ] 1 1
u=|0[v=]|1 u=|-1|v=|1
1 ] 0
Option 3 Option 4

50. 42. The diagonalizing matrix is also known as
Mark only one oval.

Eigen Matrix
Constant Matrix
Modal Matrix

State Matrix

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit
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51. 43.
3
If J=11s an Ejgen value of thematrm f g then the corresponding Eigen vector
22
is
Mark only one oval.
-1 1
1 -1
Option 1 Option 2
1 -1
1 -1
Option 3 Option 4

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit
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52. 44.

If "= R’ be equipped with mner product (x, ¥)=x, ¥, +x.1. = x.v,. Then which of
the following set of vectors are linearly mdependent.

Mark only one oval.

{(0,1,09,(0,0,1),(~1,0,1)) {(0,1,00,(0,-1,0,(0,0,1))
Option 1 Option 2

{(0,1,0),(0,0,1),(~1,0,1)} {(1,0,13,(0,1,0),(~1,0,13}
Option 3 Option 4

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit
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53. 45.

What is the value of k so that the vectors (1.—2,—-3) and (2.k.4)are orthogonal
Mark only one oval.

-5

5

-10

10

54. 46. Which of the following matrix is orthogonally diagonalizable

Mark only one oval.

L
R N
[N R O NN |

Option 1 Option 2

I
[ Q]
o=
R
= s 2
[ENT GO Y

Option 3 Option 4

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 29/40
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55. 47.

If A 1sanEigen value of an orthogonal matnx A the which of the followng
statement is false

Mark only one oval.

det(A—- AT =10 det(ﬁ;—%I} =0
Option 1 Option 2

detfa 7 —AD =0
Option 3 One of 3, b and c is false

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit
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56. 48.

The differential equation {ax—5y)dv+| ax—by)dy =01 exactif

Mark only one oval.

Option 1 Option 2

Option 3 Option 4

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 31/40
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57. 49.

If x")" bethelF of theequation (2ydy +3xdy )+ 2xy( 3ydy +4xdy) = 0then the

value of m and » are respectively

Mark only one oval.

1,3
2,1
1,2

2,2

58. 50.

The general form of a first order inear equation in ¥ = % + Py =Q where

Mark only one oval.

P and Q are both functions of x
P and Q are both functions of y
P and Q are the functions of x and y, respectively

P and Q are the functions of y and x, respectively

59. 51

The general solution of | % I;

D 60k
dx

Mark only one oval.

(y+3x-c)(y-2x-c)=0
(y+3x-c1)(y-2x-c2)=0
(y+3x)(y-2x-c)=0

None of these

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit
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60. 52.

ay; =—f

Mark only one oval.

x x 3x
[onll gy ol CE e

Option 1 Option 2

ix
[orfle gt

Option 3 None of these

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 33/40
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61. 53.

The mtegratmg factor of cos x%—ysin r=1 i
Mark only one oval.

tan x

COS X

Sec X

sin X

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 34/40
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62. 54.

z—sin 2r=
D= +4

Mark only one oval.

1 COs2x
— XCos2X
4

Option 1 Option 2

——_XCO52E

Option 3 None of these

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 35/40
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63. 55.

1 2x
—_—
(D-2)(D-3)

Mark only one oval.

2x

Option 1

3x

—xz

Option 3

xgﬂx

Option 2

_sz

Option 4

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit
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64. 56.
. . . . _dy Ldy v -
The Wronskian for the differential equation aﬁﬁ —?:d;— 2v=0s" &
e Y
Mark only one oval.
Eﬂx gx
Option 1 Option 2
E3x
Option 3 None of these

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 37/40
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65. 57

The P 1. ofthe equation 211—1

Mark only one oval.

1
4
Option 1
1, 2
—(log x|
4‘g
Option 3

Option 2

Option 4

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit
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66. 58.

. .oy : dy ] .
For the simmltansous equation = ¥ =sinf, F +x=cosf, which of the followmng
I I
is true?

Mark only one oval.

; ) =
r=ocosito,and X=op toye

Option 1 Option 2

x=(c; +eyt)e’

Option 3 None of these

https://docs.google.com/forms/d/1b_j9fmJgLUIKWXdEFQLxgM2WghzrYLT5ZNw5JSSuB4E/edit 39/40
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67. 59.

For a.b.cel | if the differential equation
[m‘l —b.xj'—j'l}m'—[ 2yt +o +3* Jdy=0 i exact, then
Mark only one oval.

a=2, c=2a

b=4, c=2

b=2, c=4

b=2, a=2c

68. 60.

The PDE r* +25 —t =0 is of order
Mark only one oval.
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